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m FACTORS INFLUENCING THE SIZE OF RECEIVABLES

Besides sales, a number of other factors also influence the size of receivables. The following factors
directly and indirectly affect the size of receivables.

(1) Size of Credit Sales. The volume of credit sales is the first factor which increases or decreases
the size of receivables. If a concern sells only on cash basis, as in the case of Bata Shoe Company
then there will be no receivables. The higher the part of credit sales out of total sales, figures 0;
receivables will also be more or vice versa.

(2) Credit Policies. A firm with conservative credit policy will have a low size of receivables
while a firm with liberal credit policy will be increasing this figure. The vigour with which the concem
collects the receivables also affects its receivables. If collections are prompt then even if credit is liberally
extended the size of receivables will remain under control. In case receivables remain outstanding for
a longer period, there is always a possibility of bad debts.

(3) Terms of Trade. The size of receivables also depends upon the terms of trade. The period
of credit allowed and rates of discount given are linked with receivables. If credit period allowed is
more then receivables will also be more. Sometimes trade policies of competitors have to be followed
otherwise it becomes difficult to expand the sales. The trade terms once followed cannot be changed
without adversely affecting sales opportunities.

V (4) Expansion Plans. When a concern wants to expand its activities, it will have to enter new
markets. To attract customers, it will give incentives in the form of credit facilities. The periods of credit
can be reduced when the firm is able to get permanent customers. In the early stages of expansion more
credit becomes essential and size of receivables will be more.

(5) Relation with Profits. The credit policy is followed with a view to increase sales. When sales
increase beyond a certain level the additional costs incurred are less  than the increase in revenues. It
will be beneficial to increase sales beyond a point because it will bring more profits. The increase in
profits will be followed by an increase in the size of receivables or vice-versa.

(6) Credit Collection Efforts. The collection of credit should be streamlined. The customers
should be sent periodical reminders if they fail to pay in time. On the other hand, if adequate attention
is not paid towards credit collection then the concern can land itself in a serious financial problem. An
efficient credit collection machinery will reduce the size of receivables. If these efforts are slower then

outstanding amounts will be more.

(7) Habits of Customers. The paying habits of customers also have a bearing on the size of
receivables. The customers may be in the habit of delaying payments even though they are financially
sound. The concern should remain in touch with such customers and should make them realise the
urgency of their needs.
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COSTS OF RECEIVABLES

1. Cost of Financing : The credit sales delays thc" time o.f salog
realization and therefore the time gap between n.1cur|'|ng the
cost and the sales realization is cxlcndcc!z This resulig in
blocking of funds for a longer period. The ln:m on the othey
hand, has to arrange funds to meetits own obli galnon towards
payment to the supplier, employees, etc. Tl1c§c.l undsare (o by
procured at some explicit orimplicit cost. This is known as the
cost of financing the receivables.

2. Administrative Cost : A firm will also be required to incyy
various costsin order to maintain the record of credit custom.
ers both before the credit sales as well as after the credit sales
Before credit sales, costs are incurred on obtaining informa.
tion regarding credit worthiness of the customers; while after
credit sales, the cost are incurred on maintaining the record
of credit sales and collection thereof.

3. Delinquency Costs : Over and above the normal adminis-
trative cost of maintaining and collection of receivables, the
firm may have toincur additional costs known as delinquency
costs, if thereis delay in payment by a customer. The firm may
have to incur cost on reminders, phone calls, postage, legal
notices, etc. Moreover, there is always an opportunity cost of
the funds tied up in the receivables due to delay in payment.

4. Cost of Default by Customers : If there is a default by a
customerand thereceivable becomes, p
izable, then this amount, known as ba
cost to the firms. This cost does
S&L@Sd with CamScanner
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;ENEFITS OF RECEIVABLES

3) Increase in Sales : Except a few monopolistic [irms, most
of the firms are required to sell goods on credit, cither
because of trade customs or other conditions. The sales
can further be increased by liberalizing the credit terms,
This will attract more customers to the firm resulting in
higher sales and growth of the firm.

(b) Increase in Profits : Increase in sales will help the firm
(i) to easily recover the fixed expenses and attaining the
break-even level, and (i7) increase the operating profit of
the firm. In a normal situation, there is a positive relation
between the sales volume and the profit.

(c) Extra Profit : Sometimes, the firms make the credit sales
ata price which is higher than the usual cash selling price.
This brings an opportunity to the firm to make extra
profit over and above the normal profit.

Thus, the receivables bring some costs as well as benefits to
the firm. Both the cost and the benefits are to be looked
cavefully.and.a.trade-off between them should be attempted.

0o

S

2.0 WH
AT IS THE OBJECTIVE OF RECEIVABLE MANAGEMENT ?

The objecti .

i dequa???:élevis %fl Receivable Management is to avoid the situation of excesgjy

achieving a trade gﬁ gs and to determine and maintain optimum level of receivap|e e
shareholders as etween the profitability and liquidity so as to maximize the y S after
receivables ariscs a whole. Whenever the situation of excessive and inadealth of
imbalances. Then Prompt and timely action should be taken by management t SQuate
n optimum level of receivable will lie between the two danger ‘; (;J_Orrect
ints of

excessive and in ) -

: adequate

receivables are - q receivables. The consequences of excessive and inadequat
ate

Consequences of Excessi
ssive
Receivables Consequ;gce.s ol: Inadequate
1. High Opportunity Co : Vabies
Focohabios y Cost of Investment in | 1. Decrease in Sales
2. High Risk of Bad debts
3. High Credit Administration Cost = G l00sing Market Share
. “icahligh Risk of kiquidity
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dea auuut i e
) Another technique available for monitoring the receiva-
L bles is known as ageing schedule. The quality of the
bles of a firm can be measured by looking at the
ageof a The older the receivable, the lower is
ll;C quality and greater the likelihood of a default. In the
ageing schedule, the total outstanding receivables on a
particular days (at the end of a month or a year) are
classified intodifferent age groups (age being the number
of days since becoming outstanding) together with per-
centage of total receivables that fall in each age group.
For example, the reccivables of a firm, having a normal
credit period of 30 days, may be classified as follows :

receival

Age Group % of Total Dulslandinﬂ
(Number of Days) Receivables

%_N than 30 days 6 &
31—45 days 20%
46—60 days 10% ‘
61 and above 10%

It may be noted that, the firm has a credit period of 30
daysand 60% of the total receivables areless than 30 days
old. 20% of the receivables are over due by 15 days, 10%
are over due by 30 days and 10% arc over due by more
than 30 days. This type of ageing schedule can provide a
kind of an carly warning suggesting (1) deterioration of
receivables quality, and (i) where to emphasize the
appropriate corrective actions. When compared with the
past ageing schedule done by the same firm or done by
other comparable firms, this may provide an indication
of whether the fiem should start worrying about its
collection procedure. By comparing the ageing schedules
for different periods, the financial manager can get an
idea of any required change in the collection procedure
and can also point out those customers which require
0Gol ghbeabon. powedd, 4 wﬁz i
ot famin V& e ”"g Ached ¢ .;1
thgt it 1sl) cpiuence] byl changc !
Saled .U lyde

EVALUATION OF CREDIT POLICIES

A firm may [ace a situation when it has several alternative
credit policies before it and has to select one such policy

which is the most profitable to the firm. For example, the firm
may extend the credit of 15 days, 30 days, 40 days, 60 days eic.

toits customers. Every credit policy will result in a particular
sales level. Normally, longer the credit period, higher will 0
the sales, and therefore, larger would be the profit of the firm.

redi

- . . 14
Does it mean that the firm should go on increasing the ¢

period ? Definitely, No.

dannea w

—— - —
There j ' 2 :
Y6rc 1s no doubt that increase in sales will increase the  (c) Othercosts:Increaseindebtors may alsorequirethe fi,
Cc 1 S . .
contribution (Sales-Variable Cost). But simultaneously, the to incur some other expenses.

firm will face the ri ; o=
cosiETiEs bw_lhcrl’sk of increase in other costs also. ThCI"%’ So, on the one hand, the firm has benefits (in the form @
s may be: — e ) T RIS : : : ;
o }J}X,’{.i N h;ghefp’r?)ﬁts) from the increase in credit period, while op the
(a) Increase in investment in debtors : Increase in ¢redit  other hand, the firm has to bear some additional costs. Atthe

period will naturally result in higher and higher amount  time of evaluation of different proposals of credit policies
of outstanding debtors, which results in more funds of ~ what is required is to compare (trade off) the coss ang
the firm blocked in debtors. There is always a cost of  benefits associated with each credit policy. The firm should
funds to the funds. So, the higher average debtorsresult  sélect that proposal which is expected to give highest net
in higher cost to the firm. profit (benefits - costs). This comparison of costs and benefits
may be attempted as follows:

Increase in bad debts : Longer credit period facility will

(b) > Total 1 B T
attract more and more customers. Some of these cus- Total profit under different proposals, or
G be defaulter, and the firm will ; : :
tomers may turn out to ) 1 (i) Incremental i X
h‘;\rc {0 bear the cost of bad debts. As the sales increases /G) d - a. pI‘Of.ll S P M
v of longer credit period), the chances of bad ~— 0™ edIllustrations given below explain the procedure under
o S 8 Tes 2 both the approaches.

VY
[

“debts Hisbmbreasanner



Illustration 1. Bharat Ltd. decides to liberalise credit to increase its
policy will bring additional sales of ¥ 3,00,000. The variable costs will be
be 10% risk for non-payment and 5% collection costs. Will the comapny

sales. The liberalised credit
60% of sales and there wij|
benefit from the new credit

policy?

Solution :
Additional Sales Revenue i
Less : Variable Cost (60%) 18[())(())(())(())

—L—\*
Incremental Revenue VST
Less : 10% for non-payment risk 3(),000
2 90,000

Less : 5% for costs of collection s i
Additional Revenue from increased sales due to liberal credit policy ‘—575 500

The company will be benefitted from the new credit policy because the increase in revenue is more
than the costs of providing additional credit. In fact, the profit of the company will increase by
< 75,000.

Illustration 2. From the following information, calculate average collection period :

v

Total Sales Lo

Cash Sales 0,000

Sales Returns T
Debtors at the end of the year Ho00
Bills Receivables A000
Creditors 1500

Scanned with CamScanner



Average Collection Penod

Trade Debtors > No. of Working Days
- Net Credit Sales
=T 11,000+ 4,000 =T 15,000

Trade Debtors
Net Credit Sales = ¥ 1,00,000-20,000-7,000 = Rs. 73,000
15,000 x 365
Hence, Average Collection Period -
O AcCP. =75 dn'ys /
Mlus - : " 3
_.,__._.3:‘_“? 3. ?:)'wn Lid. provides the following informations :
" Cash sales dun -
ales dunng the year
Creda sales dunng the year ’1.50.000
Returns inward 2,70,000
Trade debtors in the beginning f: ggg
Trade debtors at the end ;5'000
5,000

Provisson for bad and doubtful debts

Calculate :
(1) Debtors Tumover Ratio
(1) Average Collection Preiod

Note.
Solution :

Take 360 days in a year and all retumns are from credit sales.

(1) Debtors Turmover Ratio

(1) Average Collection Period

O, Avernge Collection Persosd

_ Net Credit Annual Sales
Average Trade Debtors
2,70,000 - 20,000

(55,000 + 45,000) = :

"

No. of Working Days

i i)dnun Tumover Ratwo

- \tf) « 72 days
s
Average Trade Debton  No. of Working Deyy
B " Net Crodit Sales

40,000 « V60

- = 72 davs.
140,000 .

its of its product per annum @ T 35 per umit The average

Thaseratien 4. A fim it B0 “"N unit is T 28 The average collection period is 60 days.

Cont poy unit 13 T 31 and the
Had dedt losses are 1% of wa

Scanned with CamScanner

variable cost _
les and the collechion

charges amount to T 15,000




The G b constdering u propo ‘
4 il 1o Tollow i ilneler ¢ i i i
‘ " / Aer collection policy which vould reduce b
lonsen (o 1% of nnlm el the nverape vollection period 10 45 days, ll/w«mld howeve “fb had dehy
volumer by 1000 units and norentis the collection expenses o 2T 25,000 : ever, reduce saleg
A ML 4 K '

The Nim'n N‘llll‘lﬁ(' il of rot /

06 20%, Would Yyou rec pli :
; ' 1 recommend the adoption of the new co ectj
|Hi“(\y ! Autimo 360 ‘,"_YN Inn Yo lor the purpote ol your calculation = .

Solutlon

(A) Caleulation of Suvings/Benofits of (the New Policy i 3
(1) Suvingy I Lonnes due (0 bad debis ¢ y \ 09 l :
ey H"'": -, 00,09 'u“'ﬂ“ j’ ' 14,00,000
Proposod Salon (19,000 # 35) ,(\, 0,09" oy
Pronont Bad Debta (3% of 14,00,000) 3 4'2:00(;
Proposed DBad Dobin (1% of 13,65,000) 13,650
Savings In Lossos duo to bine debts (n) -
(i) Suvings In Cost of Recelvables Investments : S
k 60
E M proent level of Receivablen (M.O".UOUE;(;-O-J I
Bl
13,65,000%
I‘mp(mc(ll.cvcl of Receivablen | 1402 X:‘-(,-a - 170,625
Reduction in the level of Receivables — 62708
Total Savings in Cost of Receivables Investment (b) (20% of 62,708) = 12542
Total Savingy/Benefity of New Policy (atb) 40,892
(B) Caleulation of Increase In Cost and Reduction of Profit under New Policy : z
() Increasein collection charges (25,000~15,000) = 10,000
(i) Reduction in Profit due to decrease in Sales of 1000 units  [1000 x (35 —28)] = 7.000
Total Increase in Cost and Reduction of Profit (i+ii) 17.000
Net Gain arising from adopting New Policy (A-B) [40,892 - 17,000] =23892

Hence, the firm is advised to adopt the new collection policy.

mers want to enter into a contract with you to buy goods worth
| instalments quarterly. The price of the
e acceptance of this proposal would

Ilustration 5. A group of custo
% 20 lakh during 2017. The deliveries to be made in four equa

i commodity is ¥ 20 per unit on which you expect a profit of T 10. Th
mean an additional recurring expenditure of ¥ 10,000 p.a. on your part.
f’l’l‘hc ageing schedule of accounts receivables in respect of this group of customers in the past was
as follows :-

Period Percentage of bills for which payment received
At the end of 30 days 15%
At the end of 60 days °°
At the end of 90 days 25«:6
At the end of 100 days ' ;3;
CJ

Assuming an opportunity cost of 209 . : i
desirable to accept this proposal ? % of the funds locked up in accounts receivables, will it be
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Solution :

(A) Calculati :
) ation of Net Expected Profit from the Contract :
Contract value N 3 T ¢
Less : Cost (20,00,000%10/20) 20,00,000
Gross Profit _10.00.000
Less : Additional Recurring E xpenses 10,00,006
Expected Profit ' 10,000
| —— 92.90.00/)
(B) Calculation of Opportunity Cost of Funds } e
Locked- .
Quarterly Sales = 20,00,000x1/4 e, .t
This amount shall be realised as per given ageing schedule : aia
il L Amount 7 Frodact
23 15% of Z 5,00,000 75,000 22.50,000
“ 25% of T 5,00,000 1,25,000 75,000,000
40% of T 5,00,000 2,00,000 1,80.,00,000
100 20% of  5,00,000 1,00,000 1,00,00.000
3.72.59.09
Opportunity Cost of Funds blocked (20%) per quarter 3,77,50,000 % x ils? 20,685
Opportunity Cost of Funds for the year = 20,685x4 Z32,740.
(C) Expected Net Gain from the Contract (A-B)
=¥9,90,000- 82,740
= %9,07,260.

As there shall be a net gain from the contract amounting to I 9,07,260, the proposal should be

accepted.
[llustration 6. The following are the details regarding the operation of a firm during a period of 12
months : _
Sales Z 12,00,000
Selling price per unit l(;
9

Variable cost per unit
Total cost per unit & &
Credit period allowed to customers e mon

The firm is considering 2 proposal for a more liberal credit by increasing the average collection period
from one month to two months. This relaxation is expected to increase sales by 25%.

You are required to advise the firm regarding adopting of the new credit policy, presuming that the
firm’s required return on investment is 25 per cent.

Solution :
fter adopting new credit policy

() Calculation of new average cost per unit & — 7 12,00,000
Current sales = % 10
Selling price per unit = 1,20,000

- 12,00,000/10 = :
Number of units sold at present ( ) — 7 10.80,000

Current cost of sales (1,20,000 x 9)
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eIy
I

T 1,90 poo patth K A%

sales (30,00
0,000 ungg *7)

New AvVerape '
(1 Calculagion ::—;c:‘"" per unig ( 12,90,0001 50 000) = T.12,90,000
Verape F=ia T K.60
Current ¢gy of g R g Invest .

' Current credit pe
(@) Curren investmen

2.2,10,000

ment |
ales n debtors

.riod =1 month
in debtorg (10,80,000 » 1712)

= T 10,80,000

Propose - T 90,000
“ posed CO8t of sales for 1,50,000 unit = 2 12.90,000
(h) p Oposed credit periog = 2 months
Topo H . i
EiA IZ? ed investment in debtors (12,90,000 212) - 2.2,15,000
-} Additional investmeny in debtors (b - 5 ) - 71,25,000
uth .(f.lcu""““ of profit on additional sales
Additional units sold » Contribution per unit = 30,000 x 3 = T 90,000
(v) Caleulation of return on additional investment
Additional Profit - 90,000
b 2 et ) o ,'
Additional Investment 1,25,000 Tt

Advise : As the required rate of return (25%) is much lower than the expected return on additional
investment (72%), the proposal should be accepted.

Illustration 7. A trader whose current sales are ¥ 15 lakhs per annum and average collection period
is 30 days wants to pursuc a more liberal credit policy to improve sales. A study made by a consultant
firm reveals the following information

Credit Policy Increase in Collection Period Increase in Sales
A 15 days T 60,000
B 30 days T 90,000
C 45 days < 1,50,000
D 60 days T 1,80,000
< E K 90 days + 200,000

The selling price per unit is T 5. Average cost per unit is T 4 and variable cost per unit is ¥ 2.75.
The required rate of return on additional investment is 20%. Assume 360 days in a year and also assume
that there are no bad debts. Which of the above policies would you recommend for adoption?

Solution ;

Statement of Evaluation of Different Credit Policies

Existing Policy Proposed Policies
A B C D E
30days 45 days 60 days 75 days 90days 120days
(1) Salesrevenue () 15,00,000 15,60,000 | 15,90,000 16,50,000 | 16,80,000 | 17,00,000
(2) Scllingprice per 5 5 5 5 5 5
unit (%)
(3) Number of units(1 +2) 3,00,000 3,12,000 3,18,000 3,30,000 3,36,000 3,40,000
(4) Variahle cost 8,25,000 8,58,000 8,74,500 9,07,500 9,24,000 9,35,000
@2275pu. )
(5) Fixed cost ®) 3,75,000 3,75,000 3,75,000 3,75,000 3,75,000 3,75,000
(6) Total coy [4+5]1R) 12,00,000 12,33,000 | 12,49,500 12,82,500 } 12,99,000 | 13,10,000
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’ (7) Profit  [1 6] 3,00,000

3.27,000 3,40,500 3.67,500 3.81.000 3.90
A 0752 381, 3 000
(8) Average debtors at 1,00,000 1,54,125 2.08.250 2.67.188 39 g
54,12 2,08,25 2,67, 3.24.750
cost (T) ; 4,36.667
Tmal Cost /
s =Credit Period } 4. s
( 360 llcfz?‘{"u’}(loln ‘J:'{I
(9) Required return on 20,000 30.825 41.650 53,438 64,950 87,333
investment at 20% (%) o a
(H)) \u Pmm !.7“_9) ) 4L 80,000 296,175 2,98,850 3,14,062 3.16,050 3,02,667

'Ihus. I’nluy D which gives the highest profit of ? 3.16,050 should be adopted.

ulnu\.ulll T




